ITI Wireman 1st Year Module 2 Wire Joints and Soldering

(1). Which type of wire joint is found in the junction box? | SR die] H fbg
UpR T aRIR SIS U Sildl 87

(A) Rat tail joint | Y€ A NS

(B) Plain tap joint | WS ¢U SIS
(C) Aerial tap joint | TRIA U SIS
(D) Married joint | AR SIS

Correct Answer : A

(2). What is the property of direct current? | STURIC PHec ﬁﬁxﬁwwév

(A) Magnitude and direction of current changes with time | TRAT 3R Bc Bl
fea 9w & 91y uiefdd gid 2

(B) Magnitude and direction of current remains constant | URHTT 3R HYe B

e fRR e
(C) Direction of current changes with time | YRT &1 fezn v & a1y ufkad

gl 8

(D) Magnitude of current changes with time | PIRC BT UNHTI TG & 1Y
ufafia g s

Correct Answer : B

(3). How many electrons are in a copper atom? | fopa] 5@1 :IJ"I SIE) %tm:ﬂ'f{[f[
gld &
(A) 27

(B) 28



(C) 29
(D) 30

Correct Answer : C

(4). What is the name of the effect, if the current is passed through the

electrolyte? | @ﬁ@w%mmﬁﬁwmmﬁﬁmw%ﬁ
UHTd BT T ATH §?

(A) Heating | $>SHI
(B) Chemical | IS
(C) Magnetic | Gah I
(D) Thermal | TTfd®

Correct Answer : B

(5). Which type of joint is used for extending the length of conductor in over head

lines? | AR 8 WIS H B gdex &I ddls dgM & oY fhd UHR & SIS &l
ITANT fhaT ST 82

(A) Aerial tap joint | QﬁTIT'T%q\_Th_S'

(B) Western union joint | éﬁ‘r‘fqﬁmaﬁg
(C) Scarfed joint | THTHS SIS

(D) Britannia joint | @E’Iﬁfﬂ\_rng

Correct Answer : B




(6). What is the name of the wire joint? | HWG'\I%?W:IWW%?

(A) Britannia 'T" joint | @%&IHT'T'\_IIUE_C'

(B) Western union joint | aﬁmﬁﬁg—d
(C) Britannia straight joint | @%ﬁﬂT@?\_ﬂvﬁ?
(D) Married joint | ﬁh@’ﬁﬁ%‘c’

Correct Answer : C

(7). What is the name of soldering method? | WWWWW%’P




(A) Dip soldering | fsu A

(B) Soldering with a flame | Fﬁ@@@ﬁ'ﬂ
(C) Soldering gun | RIEIRURIG]

(D) Soldering Iron | SR

Correct Answer : D

\J
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(8). Which is called valence electron in an atom? | Qaauwvgﬁ,éaa 581
fHY FHeT AT 8?

(A) Half the total No. of electron | WE@E\JHW ST
(B) No. of electron in middle orbit | H& HeH sachd CARIE:|

A

(C) No. of electron in inner most orbit | oy Hidd pemH 5@10}1;7-1 CARIEES)
(D) No. of electron in the outer most orbit | WW$&ﬂﬁ3@a§ﬁﬁm

Correct Answer : D

(9). Which solder is used for soldering aluminium conductor? | GI’?I"I 1 gicey

TegHITI dedex H idh] M o ol TanT fodt STt g2
(A) Fine solder | P13 HIcaR
(B) Resin core solder | IR HR Tlca

(C) Alcap solder | ch?ITﬁH\IQ'SQ

(D) Tinman solder | T&H Oicgx

Correct Answer : C

(10). Which effect of electric current is used for the treatment of mental patient?

| AR AT & IUAR F o faggd U1 3 o5 wma &1 SuiT foba il g2



(A) Shock effect | AChTUHIT

(B) Chemical effect | IS UHTG
(C) Magnetic effect | ﬂaﬁnqm

(D) lonization effect | 3TI-IHRUT YHTT

Correct Answer : A

(11). What is the reading of the micrometer? | Hl‘iw\IH‘.‘ICQW UTo YUl I %?

@I
et

Lkl ! it
T

(A) 4.05mm
(B) 4.15mm
(C) 4.50 mm
(D) 4.55mm

Correct Answer : D

(12). Which is conductor? | I Il heae %?
(A) Wood | AT al

(B) Zinc | NI

(C) Rubber | Y&}



(D) Mica | HYUDh

Correct Answer : B

(13). What is the name of soldering method? | IEIRR WWWW%?

(A) Dip soldering | IECESIRSIR

(B) Solderingiron | ISR 3TRA

(C) Soldering with flame | ?ﬁ@@@ﬁ"’[
(D) Soldering gun | RIS U RIE

Correct Answer : A

(14). Which formula is used to find Electro Motive Force (EMF)? | sﬁaijlﬂﬁa’

B (STAUD) TTd B3 & foTT fob e o1 o1 SuaivT fobart ST 82
(A) EMF = PD + Voltage drop

(B) EMF =PD -Voltage drop

(C) EMF =PD + 2 x Voltage drop

(D) EMF = PD + Voltage drop/2



Correct Answer : A

(15). What is the name of soldering method? | OIS T WWWW%?

(A) Soldering Iron | IS AT STRA

(B) Soldering with gun | T Aies T
(C) Soldering with a flame | F’ﬁﬁ@l@ﬁ"’[
(D) Dip soldering | fsu e

Correct Answer : C

(16). What is the equation for Quantity of electricity? | ﬁlﬁ?ﬂﬁﬂﬁ%ﬁﬂ
Tt T g2

(A) Q=I/t
(B) Q=1+t
(C) Q=1Ixt
(D) Q=1-t

Correct Answer : C



(17). What is the name of the soldering method? | WWWWW%?

(A) Soldering Iron | IS AT STRA

(B) Soldering gun | RIEIRURIG]

(C) Soldering with flame | Fﬁ@@@ﬁ"’[
(D) Dip soldering | fsu e

Correct Answer : B

(18). How many number of electrons will move in one second for one ampere

current through the conductor? | W%WW@WWW%WW
qdve U fhdA SaacHl &l T ghil?

(A) 6.24X10%
(B) 6.24 X 10
(C) 6.24X 10"
(D) 6.24 X 10"

Correct Answer : D

(19). What will happen to PVC insulation if cable carries excess current
continuously for long period? | g Hed dd THT dPb AR AfdNad dc

galfed Bl g df YT SYCR &1 1 g




(A) Insulation resistance decreases | saﬂémmamg‘rw%

(B) Voltage drop decreases | alecol EzlJ'q h Y ﬁ Sildl %’

(C) Voltage drop increases | dleeol $19 §¢ SIIdT &

(D) Insulation resistance increases | Wmﬂm%

Correct Answer : A

(20). What is the name of the measuring tool? | AU SUHUT & AT ] %?

LR

10

5
o

(ﬁ) = |2

(A) Outside micrometer | T3S HISHIHICT

(B) Inside micrometer | S1HISS Hl‘id;ll-lnldi
(C) Vernier Caliper | IR bt

(D) Standard wire gauge | QSSC TR 7]

\\L

VI

—Q
—
1
—e
—

Correct Answer : D

(21). Which metal is used to make soldering iron bit? | OIS AT 3TRA foe §9H
& forg v fopan ST 82

(A) Iron | ?’hET
(B) Steel | WIdl
(C) Brass | didd



(D) Copper | dIdT

Correct Answer : D

(22). What is the property of good conductor? | =3I HSaeI I 0 ﬁ"«ﬁ'ﬁl?ﬂ%?
(A) Must have low specific resistance | W%ﬁyqﬁfr%ﬁmm%q

(B) Must have high dielectric strength | 3= Sl‘éér $€1fcl\§d9 @uaﬁraﬂ%n

(C) Must have low tensile strength | WT‘FGQT@[@:F[?IT%Q

(D) Must have low melting point | memm

Correct Answer : A

(23). What happens to the voltmeter if it is connected as an ammeter? | Zlﬁ

diccHIe) &l THICI & ¥ H SIs] 9T di SUHT T BRI
(A) No deflection | ﬁéﬁmﬂﬁ
(B) Meter burns out | Hiex Sfd a1

(C) Overshoot deflection | Wﬁw
(D) Low reading | HH ST

Correct Answer : A

(24). Which conductors are used for distribution lines? | faazor FII%#[%%I’Q@?
T B BT IYAN fHa1 Srar g2

(A) Bare conductors | T Heaex

(B) Insulated conductors | ‘éﬂaes heFR

(C) Insulated solid conductors | é{j,aES 3G hedey

(D) Insulated multi stranded conductor | WW@@EW



Correct Answer : A

(25). Which type of joint is used in over head lines for extending the length of

wire? | fPT UBR & Sge BT 3N 88 TSI H dR DI T8 S¢MH & ol T
fpar Sirar g?

(A) Scarfed joint | @E’W\II_SZ_C'

(B) Britannia ‘T’ joint | @ETIEI'CIT'T’W\I%_C'

(C) Western union joint | WWW
(D) Married joint | ﬁﬁ_s’GIyIE_C'

Correct Answer : C



